	Maths Plan
Year 4 Monday 4th May 2020


	1. 7
2. 12
3. 12
4. 9
1. £3.23       2. £2.40            3. £6.53          4. £8.73            5. £9.01         6. £34.23        7. £73.64 
8. 478p         9. 201p         10. 767p           11. 510p         12. 1345p      13. 2501p     14. 5000p 
15. 





16. 










Extra daily challenge
One side of a square is 12cm. All sides of a square are equal, so all sides would be 12cm each. A square has 4 sides. So the perimeter is 12x4= 48cm




	Maths Plan
Year 4 Tuesday 5th May 2020


	1. 










2. B- £6.10
3. 






 

4. Rosie is correct. Whitney has not written the 6 p in the correct column. Teddy has not understood how many pence there are in a pound, therefore his place value is incorrect.
Extra daily challenge: 
Twice as many means double, so double 31 = 31+31 = 31x2= 62. Dan has 62 marbles




	Maths Plan
Year 3Wednesday 6th May 2020


	1. 34x10=   340     2. 76x10= 760      3. 4230= 423x10         4. 6540= 10x654                5. 10x 756= 7560     6. 3000= 300x10

7. 60÷10=6      8. 60=600÷10       9. 78=780÷10        10.  340÷10= 34        11. 67÷10=6.7          12. 3.4=34÷10
1. A £1.61 and  161p, B £1.80 and 180p
2. £1.40 
3. 









4. 







Extra Challenge
 85 minutes is the same as an hour and 25 minutes, and 85  minutes later than 2.20 would be 3.45.


[bookmark: _GoBack]


	Maths Plan
Year 4 Thursday 7th May 2020


	1. 45x100= 4500    2. 3200=32x100       3. 100x54= 5400     4.6600 =100x66        5. 70x100= 7000     6. 12,100=121x100
7. 500÷100=5     8. 6500÷100=65     9. 78=7800÷100    10.60 =6000÷100      
11. 580÷100= 5.8    12. 8.7=870÷100
1. 












2. 








3. 







4. 




Extra Challenge
75 ÷3= 25. You could have used the bus stop method to help you work this out. 













	Maths Plan
Year 4 Friday 8th  May 2020


	1. 3x1000=  3000  2. 34,000=1000x34       3. 46,000=46x1000                               4. 1000x55=55,000      5. 676x1000= 676,000     6. 535,000=1000x535

7. 5000÷1000= 5    8. 9=9000÷1000     9. 12,000÷1000=12    10. 1300÷1000=1.3      11.8.7 =8700÷1000
 1. 
a. 3578p   >   anything smaller than 3578p / £35.78
b. £65.98 < anything bigger than £65.98/ 6598p
c. 6789p  < anything bigger than 6789p /£67.89
d. £89.87 > anything smaller than £89.87/ 8987p

2. 






3.  £3.24, £3.26 £3.42, £3.46 £3.62, £3.64 £4.23, £4.26 £4.32, £4.36 £4.62, £4.63
4.  I would rather have five 50 p coins because 50 × 5 = 250p/£2.50 but 20 × 12 = 240p/£2.40

Extra Challenge
When we have half of something we divide it by 2. So 58÷2= 29. Jade has got 29 marbles. 
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b) Draw money so that there are fewer coins but the
same total amount.

| e &ee
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o Match the amounts that are equal.

Fill in the missing digits.

40p | | £ andp £4.62
420p £4 and 62p £4.06
LOép £4 and 6p £4.20
462p | £4 and 20p £4.26
4%p [ | £4and26p £4.60
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© Watch the person to the correct amount.

T have a note and
some coins.

)

T have more
e
e e
° most money.

Jack
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Amir has a note in his pocket.

Annie has three coins in her pocket.

Amir must have more
money than Annie.

Do you agree with Dora? /0.

Explain your answer.

Amir could hawve @ €S note ana Annie

could hawe,  bhcea E1  Counp -
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© «im hos four coins.
© The coins add to a multiple of 10
* The total amount is more than £1
o All the coins are silver.

© The total is less than £1.50

@) Which four coins could Kim have?

eg _S0p e 200 10p

b) How many different combinations can you find?
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What s the value of the digit 2 in these amounts?
a)sap 200

b) £240ondS0p 20
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You can make an amount

greater than £11
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d)
0 Vou can make exactly £

ES + £l + 59 490420430 = £E11
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Write the amounts as pence, then compare using <, > or =

(‘62090 (526000 2954 () s4p

Write the amounts as pounds, then compare using <, > or =

| 62p @ 602 £5,010 @ 5010p
50100057
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Write the amounts in ascending order.

£21.89 1,289 8291p £82.19 9,128p

1,289 £8; 9], 138,

Write the amounts in descending order.

£5.05 550p 5,500p £50.50 £55.05

ESS0S 5500 FenSo 50, ES.0S
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@ How much money s there?

38 |e €28

What is the same and what is different?

a) Complete the statements.

There is pounds.

L]
There is| = | pence.
and| 75 |p.
Thereis £ |, 775

There is £

nd






